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  Write each number as a figure (e.g: quinze = 15): 
 

a soixante-seize   ..................  f quatre-vingts   ..................  

b soixante-et-onze   ..................  g quatre-vingt-quinze   ..................  

c cinquante-huit   ..................  h soixante-dix-sept   ..................  

d quatre-vingt-treize   ..................  i quatre-vingt-quatre   ..................  

e trente-neuf   ..................  j soixante-quatorze   ..................  
 
 

  Rewrite these numbers from lowest to highest: 
 

  

  

  

  

  

  

  

 
 

  
Fill in the missing letter of each word, then rearrange these 12 letters in the 
boxes at the bottom to form a different French number. 

 

c i n q u __ n t e v i n __ t q u a t o __ z e h u i __ 

__ i n g t __ u i n z e n __ u f t r e n __ e 

d o __ z e q u a r a __ t e d i x - __ e p t t r e __ z e 

 

      -       
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  Write the missing number to complete each sequence.  
 

a quinze,      ...........................  ,     soixante 

b quatre-vingt-dix,     quatre-vingts,     soixante-dix,      .............................  

c quatre,     huit,      ...........................  ,     trente-deux,     soixante-quatre 

d quarante-et-un,     cinquante-deux,      ...........................  ,     soixante-quatorze 

e quatre-vingt-cinq,      ..........................  ,     soixante-cinq,     cinquante-cinq 

 
 

  Write the answers to these sums in words and in figures. 
 

a vingt-trois et cinquante-et-un  =   ..............................................  =   .........  

b trente-cinq et soixante-deux  =   ...............................................  =   .........  

c dix-neuf et soixante-et-onze  =   ...............................................  =   .........  

d quatre-vingt-quinze moins treize  =   ..........................................  =   .........  

e soixante-quatorze moins trente-neuf  =   .....................................  =   .........  
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© www.teachitlanguages.co.uk 2014 19952 1

© www.teachitlanguages.co.uk 2014 19952 1

A
a   76 f    80
b   71 g   95
c   58 h   77
d   93 i 84
e   39 j    74

B
vingt-cinq
quarante-deux
cinquante-six
soixante-quatre
soixante-dix-sept
quatre-vingt-trois
quatre-vingt-dix-neuf

C
quatre-vingts

D
a   trente
b   soixante
c   seize
d   soixante-trois
e   soixante-quinze

E
a  soixante-quatorze = 74
b  quatre-vingt-dix-sept = 97
c  quatre-vingt-dix = 90
d  quatre-vingt-deux = 82
e  trente-cinq = 35

Answers




